3000m =E#-—fix BFDE

14
1 517 8’58 DHE =5 uTC
2 518 9'07 e Kb UTC
3 502 9’12 B @ EAREREFR =2
3 508 9’12 ®E EARESEFR =1
5 506 9’13 kg LR EARESEFR =1
5 504 913 NI ) EARESEFR =2
5 501 913 o SN EARESEFR =2
5 505 913 HE BX EARESEFR =1
5 507 913 N BT EARESEFR =1
10 512 914 tH % HEARESERR | B2
11 510 9’18 AR BB EARESEFR =2
12 515 9’27 ™R BA EARESEFR =1
12 514 9’27 INEE RS EARESEFR =1
12 509 9’27 o L EARESEFR =2
503 DNS =EA ALK EARESEFR =2
511 DNS IR BE EARESEFR =2
513 DNS e EE EARESEFR =1
516 DNS BEFg  ZEX EARESEFR =1
3000m Sk-—fit BFOE

1 525 9’23 AEK AR LHES =1
2 522 9’24 = B EARESEFR =1
2 519 9’24 W e EARESEFR =
4 530 9’29 TE AR
5 528 9’35 BN EX THEE =2
6 527 9’37 =R OEA THES =2
7 529 943 IR R THES =1
8 534 951 El Ft
9 526 10’01 B B RS =2
10 524 10’ 14 i 2 HEARESEFR =1
11 535 10" 15 sl HAE EAEREREMER | &2
12 531 10’16 KO &5 LTHES =1
12 532 10’16 LA {ERER THES =1
14 533 10’28 IR {HE PIEA
520 DNS BH RS EAREREFR =2
521 DNS Hfh SE EARESEFR =2
523 DNS (i 2 EARREGSEFR =1




3000m =E#-—fix BFDE

348
1 537 9’00 B8 EARESEER =2
1 543 9’00 B5 HEARESEFER =1
1 536 9’00 hnEE P IEARESEFR =Y
4 541 9’01 g LR EARESEER =1
4 539 9’01 M FOnE EARESEFER =2
4 540 9’01 E EX EARESEFR =1
7 542 9’02 N Bz EARESEFR =1
8 546 9’12 INE RS EARESEFR =1
K 547 213 R EA EAREBSEFR | Bl
10 544 9’21 TRk & EARESEFR =2
11 549 10’02 U=y N uTcC
12 551 10’ 45 R E— uTC
13 550 10 ' 54 g B
14 552 11’04 B SEKEP {EMROAD&TRAIL
15 553 11714 LUFE  HER =/ROAD&TRAIL
538 DNS =EA ALK EARESEFR =2
545 DNS W EE EARESEFR =1
548 DNS Bpg EX EARESEFR =1
3000m SK-—fi% BFDE

1 554 9’18 W Ee EARESEFR =2
2 556 9’24 =[x EARESEFR =1
3 559 9’45 TE AR
4 558 9’59 ke B EARESEFR =1
5 566 10 ' 44 fE —=t =M ROAD&TRAIL
6 561 10’48 W BB SAKUEL
7 563 1123 Bd  EX—ER =M ROAD&TRAIL
8 564 1129 =E 0l =M ROAD&TRAIL
9 568 11’58 Flg B8k =M ROAD&TRAIL
10 569 12’40 A SORAR - REF-1EAZED
11 570 12’55 BEH B— E#ERC
555 DNS Hfh E& EARESEFR =2
557 DNS A &3 EARESEFR =1
560 DNS BH RS EARESEFR =2
562 DNS 3] 2PN
565 DNS &K T =M ROAD&TRAIL
567 DNS =l K
571 DNS BiE = HizZAstemo




